8
ITEM NO.

/
PART NUMBER

QTY.

GNR 4WHEEL UNDERFRAME

COACH SPRING

AXLE GUARD PAIR

GNR COACH WHEEL G1 34,Tmm

COACH BRAKE GEAR

3X6X2,5 6377 BRG

AXLE TUBE

ISO 7046-1 -M2.5x 4 -7 -4N

BACK-BACK SPACER

RESERVOIR CYL

DRAIN CYL

COACH STEP

SOLID BUFFER

PIPE BRACKET

S o|Jlalglmlolo| Dol | Njovnjo|Mw(N|—

DRAIN PIPE

ISO 10642 - M3 x 8 - 8N
M3-washer

ISO 4762 M3 x 16 --- 16C
M3-nyloc-nut

20 NFS EQUIV HOOK
21 COUPLING WASHER
22 GNR CURVED BRAKE PIPE

N (NN ONONINON =N INI=ININOAOINIMAMDMIEMEDN|I M-

UNLESS OTHERWISE SPECIFIED: FINISH:
DIMENSIONS ARE IN MILLIMETERS
SURFACE FINISH:
TOLERANCES:
LINEAR:
ANGULAR:

NAME SIGNATURE DATE

orawN| P R Jackman 25/06/2025

APPV'D

MFG
QA MATERIAL:

eYYels
. 0

DEBURR AND

ISSUE

B

BREAK SHARP

EDGES

)
|
)
|
|

[
)

RO
ALBION ALLOYS BT-3

SECTION C-C BRASS TUBE

DO NOT SCALE DRAWING REVISION

TITLE:

GNR 4 WHEEL UNDERFRAME ASSY

DWG NO.

UNDERFRAME ASSY

SCALE:1:2 SHEET 1 OF 1

2 1

A3

A



	Sheet1
	Drawing View2
	Drawing View3
	Section View C-C


